
SPARE PARTS - TENSIOMETER
PRICE LIST / EFECTIVE: DEC-18-2024

P/N DESCRIPTION
SALE 
PRICE

0901100-01
Drive Screw Round (MS21318-1) 
(00 x 1/8") $1.14

0901100-04
Screw Phillips Truss Head  
(0403M5B) ( 4-40 x 3/16") $1.14

0901100-05 Screw (AN500A4-5) $1.83

0901100-06
Flat Socket Cap Screw                           
(4-40 x 1 1/8) $2.29

0901100-07
Screw, Phillips Oval Head                       
(6-32 x 3/8") $1.14

0901100-48 Screw (4-40 x 3/16) $1.83

0901100-55 Screw (4-40 x 1/2) $1.14

0901100-63
Screw Socket Head Cap                                               
(AN500A6-6) (6-32 x 3/8") $2.98

0901100-99 Screw (10-32 x 5/16) $2.98

0908100-03 Ball Bearing 3/32" $1.14

0913100-23 Spring Pin (1/16 x 1/2) $1.14

0913200-01 Groove Pin (1/16 x 1/4) $1.14

0913200-02 Groove Pin (1/16 x 5/16) $1.14

0922100-88 Black Case $28.73

0922100-89 Small Plastic Box $1.14

313-140-010 Flat Washer Spacer $1.14

AN500-2-6 Screw $1.14

AN531-4RF6 Screw (4-40 x 3/8) $1.14

AN535-04
Screw Drive Round                    
(AN535-0-4) (0 x 1/4") $1.14

AN960-3L Washer $1.14

AN960-4 Washer Flat $1.14

MS20426AD4-5 Rivet $1.14

MS20470AD2-3 Rivet $1.48

MS35207-203 Screw $1.14

MS35265-14 Screw (AN500A4-5) $1.83

MS35265-4 Screw (AN500-2-5) (2-56 x 5/16) $2.29

MS35333-37
Washer Lock Flat Internal Tooth #6 
(AN936A6) $1.14

MS35336-9 Screw (AN936C6) $1.14

T5-AT-1 Pointer Remover, Handjack $69.95

T5013 Block Riser $27.28

T5018 Clip $30.71

T5019-1 Mainspring $69.50

T5019-3 Mainspring $69.50

T502 Case $114.95

PAGE 1 OF 5



SPARE PARTS - TENSIOMETER
PRICE LIST / EFECTIVE: DEC-18-2024

P/N DESCRIPTION
SALE 
PRICE

T5020 Clip $9.73

T5033-10 Shims $2.29

T5033-3 Shims $2.29

T5033-5 Shims $2.29

T5034 Washer $2.29

T5036 Test Bar $68.94

T504 Trigger Assy $98.45

T505 Pin roller $9.10

T506 Roller Trigger $9.66

T507 Ring Roller Lock $1.72

T509 Lever Trigger $68.95

T512 Pin Pivot  Trigger $8.07

T5136 Rubber Cover $9.95

T5138-20 Carrying Case Assy $45.24

T5138-60 Carrying Case Assy $45.24

T5138-80 Carrying Case Assy $45.24

T5140 Handle $62.72

T5142 Lever Trigger $68.94

T5143 Trigger Assy $91.94

T5144 Case $124.19

T5146 Spring Assy $83.21

T5147 Leaf Heavy Mainspring $27.11

T5152 Mainspring-Assy Heavy $103.44

T5156 Plate Attaching $7.76

T5159 Leaf Clip $7.45

T516 Pin Roller Thumb Trigger $10.97

T5160 Mainspring Arm $6.73

T517 Roller Trigger Thumb $7.45

T518 Ring Lock, Heavy Lock $1.78

T5184-01 Cushion T60 $4.59

T5184-02 Cushion T5-8000 $4.59

T5184-04 Cushion T5-2000 $4.59

T5185-51 Plain Cushion $2.29

T5185-52 Cushion with Slot $2.29

T520 Mainspring Assy $91.94

T521 Leaf, mainspring $8.86

T522 Leaf-assy $66.34

T523 Cable Size, Gage $5.74

T524 Rod Linkage $30.64

T525 Washer $1.71

PAGE 2 OF 5



SPARE PARTS - TENSIOMETER
PRICE LIST / EFECTIVE: DEC-18-2024

P/N DESCRIPTION
SALE 
PRICE

T526 Spring Lock $1.71

T527 Mainspring Assy Heavy $103.44

T528 Leaf Mainspring $14.38

T530 Leaf - Assy Heavy $83.52

T531 Rod Brake Lever $28.46

T533 Spring Riser Clip $5.50

T534 Pin Trigger Spring $6.31

T535 Sleeve Link Rod $6.31

T536 Sleeve Assy Link Rod $32.45

T537 Sector $34.57

T538 Sector Assy (left) $36.14

T538-1 Sector Assy (right) $36.14

T541 Sping Sector $3.83

T544 Plate Identification $2.90

T545 Screw Shoulder Link Rod $7.87

T546 Washer Spacer $12.42

T547 Nut Channel $12.28

T550 Case Assy $176.78

T551 Spring Brake Pointer $6.69

T552 Spring Trigger $14.00

T553 Plunger Brake Activator $4.76

T554 Spring Plunger Brake $8.28

T555-2 Riser # 1 $29.99

T555-4 Riser # 3A $29.99

T555-6 Riser # 3 $29.99

T555-8 Riser # 2C $29.99

T555-10 Riser # 2 $29.99

T555-12 Riser # 4 $29.99

T555-20 Riser # 3B $29.99

T556 Pin Sector Pivot $9.10

T557 Pin Dowel Dial $4.21

T558 Pin Pivot Mainspring $9.18

T559 Dial  $24.20

T560 Case Assy $183.60

T561 Glass Cover $8.80

T562 Pointer Assy $13.98

T563 Bezel $19.49

T565-1 Sector Assy-Right $38.36

T565 Sector Assy-Left $38.36

T566 Sector Heavy Mainspring $34.57

PAGE 3 OF 5



SPARE PARTS - TENSIOMETER
PRICE LIST / EFECTIVE: DEC-18-2024

P/N DESCRIPTION
SALE 
PRICE

T567 Support Stop Screw $13.46

T568 Pin Pivot Trigger Thumb $4.21

T569 Cover $54.91

T570 Case Assy $196.79

T571/T571-1 Movement Assy $99.95

T572 Clip Riser $27.13

T572-1 Clip Riser $27.13

T573 Pin Riser $9.55

T574 Clip Riser $39.85

T574-1 Clip Riser $39.85

T575 Clip Riser Assy Fixed $60.94

T576 Pin Riser Fixed $11.04

T577/T577-1 Movement $86.70

T600 Sector Heavy Mainspring $30.29

T601-1 Sector Assy - Left $30.50

T601-2 Sector Assy - Right $30.50

T602 Case Sector Assy $181.88

T614-1 Mainspring assy $79.80

T620-01 Nameplate Case Tensiometer $3.69

T60006 Shaft $23.86

T60007 Wrist Band $3.28

T60008 Plate assy $33.05

T60011 Frame $154.14

T60012 Head Cover $38.36

T60014-1 Handle $80.44

T60016 Bracket Spring $15.80

T60017 Pin Sector $6.28

T60018 Pin Center $48.16

T60019 Washer Center $5.87

T60021 Frame Assy $199.95

T60022 Indicator Cable Size $18.25

T60023 Yoke- assy $132.81

T60024 Plunger Handle Lock $18.84

T60025 Cap Handle Lock $20.18

T60026 Shaft Indicator $21.32

T60028 Spring Handle Latch $4.76

T60030 Roller Guide Yoke $17.60

T60031 Post Shaft Indicator $14.08

T60032 Screw Adjusting Spring $7.56

T60033 Pin Frame $3.52

PAGE 4 OF 5



SPARE PARTS - TENSIOMETER
PRICE LIST / EFECTIVE: DEC-18-2024

P/N DESCRIPTION
SALE 
PRICE

T60035 Spring Switch $12.52

T60037 Washer Spacer Handle $4.45

T60039 Plate Instruction $2.61

T60040 Nameplate $1.30

T60048 Pin Switch Spring $15.32

T60050 Spring Trigger $30.58

T60052 Washer $2.04

T60053 Tag Test Bar $7.45

T60054 Test Bar Assy Calibration $74.69

T60058 Cable indicator $38.32

T60059 Indicator Assy Dial C-8 $199.95

T60060 Indicator Assy Dial C-9 $225.00

T60059-1 Indicator Assembly $199.95

T60060-1 Indicator Assembly $225.00

T60068 Washer Spacer Center Pin $1.71

T60070 Liner Pin $38.51

T60071 Liner Roller $22.94

T60074 Bearing $7.69

WI-CU-001 T5 Instructions Sheet, Operating $1.99

WI-CU-002 T60 Instructions Sheet, Operating $1.99

SOP-TN-001 T5 Operation & Service Manual $4.08

SOP-TN-002 T60 Operation & Service Manual $4.08

PAGE 5 OF 5


